dfaxts of Cixcle

Parts of Circles A circle is the locus of all points in a plane equidistant
fran a given point called the center of the circle, A circle is usually
named by its center point. The figure below shows circle C, which can be
written as QC, Several special segments in circle C are also shown.
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The plural of radius is redii, pronounced RAY-dee-eye, The term radinsg
can mean a segment or the measure of that segment. This is also true of
the term diameter,
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Example 2: Find the mBE, mCBE, and mACE — A

mBE=5D mCEE T8 + BF
m C@.E = Q0 +50
i’i’?m s 140°
m ﬁEE + 50+40o+F0+50
m AcE = 430°

Is there another way? Let’s try Arc Length!
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Find the Diameter, Radius, Circumference, and Area
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